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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
SCIENCE-Meteorology

In 2000, its function known as Selective Availability was permanently disabled; this function included an offset of up to 100 meters. This is what system, a competitor to the planned European Galileo system, which uses triangulation from a fleet of satellites to determine your location anywhere on the Earth?

ANSWER: (NAVSTAR) Global Positioning System

TOSSUP 2
SOCIAL STUDIES-Civics

The 23rd Amendment added a few more people to it, and the 12th Amendment made a change to its procedure. Every four years, it meets in 51 different locations on the second Monday in December, and produces 51 ‘Certificates of Vote.’ What body of 538 people elects the President? 

ANSWER: Electoral College
TOSSUP 3
SCIENCE-Chemistry

They are polar compounds that are soluble in water and are more volatile than alcohols. The simplest one is acetone and other examples of them include butanone and benzophenone. Name this functional group that is a carbonyl group linked to two other carbon atoms.

ANSWER: ketone(s)

TOSSUP 4
LITERATURE-World literature

Robert Graves published a possibly fraudulent translation of it in 1967. Edward Fitzgerald translated about 100 its poems between 1859 and 1889. Technically speaking, it can refer to any collection of four-line Farsi poems. What is this collection of 1,000 quatrains by Omar Khayyam? 

ANSWER: Rubaiyat of Omar Khayyam
TOSSUP 5
MISCELLANEOUS-Classic pop culture

In addition to the unreleased Stone of Sisyphus, this band has released Night & Day Big Band and XXX (read as: “thirty”) over the past 10 years. What band’s jazzier early songs such as ‘Questions 67 and 68,’ ‘Beginnings,’ ‘Make Me Smile,’ and ‘25 Or 6 To 4’ were replaced by ballads such as ‘If You Leave Me Now’ and ‘Hard Habit to Break?’

ANSWER: Chicago
TOSSUP 6
SOCIAL STUDIES-World history

His general Diophantus (deye-oh-FAN-tus) defeated the Scythians. He invaded Bithynia and massacred 80,000 Roman citizens, leading to a war with Rome that he lost. When Pompey defeated him in 63 BC, he tried to commit suicide, but failed since he had built up an immunity to poison. A.E. Housman said what king of Pontus ‘died old?’ 

ANSWER: Mithridates VI

TOSSUP 7
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. How many points are scored in a darts turn of triple 16, double 13, and triple 19, given that triple 16 equals 48, double 13 equals 26, and triple 19 equals 57?

ANSWER: 131
TOSSUP 8
LANGUAGE ARTS-Vocabulary

This word comes to us from a Germanic word meaning ‘a cut.’ It describes a musical tone raised a half-step in pitch. What is something having a thin cutting edge or a fine point, as with a needle or a knife?

ANSWER: sharp 

TOSSUP 9
SOCIAL STUDIES-US history

Montana Senator Thomas Walsh uncovered this scandal that involved kickbacks from Pan American Petroleum and Mammoth Oil. The no-bid leases for two oil fields in California and Wyoming were legal. Secretary of the Interior Albert Fall went to prison in 1929 over what scandal that rocked the Harding presidency? 

ANSWER: Teapot Dome scandal

TOSSUP 10
SCIENCE-Biology

One version of it called phylloquinone (feye-loh-KWEYE-nohn) has a chemical formula of C31H46O2. Good sources of this vitamin include spinach, cabbage, wheat bran, and parsley. Name this fat-soluble vitamin that is required for blood coagulation and is ‘isolated’ from the other vitamins alphabetically. 

ANSWER: vitamin K
TOSSUP 11
LITERATURE-US literature

This book started with the murder of Jacques Saunière. Leigh Teabing told the albino monk Silas to kill four members of the Priory of Sion. Sohpie Neveu and Robert Langdon solved the mystery and uncovered a secret: the Holy Grail is not a cup. Mary Magdalene carried Jesus’ child in what novel by Dan Brown? 

ANSWER: The Da Vinci Code
TOSSUP 12
MATH-Geometry

THIS IS A COMPUTATION QUESTION. What is the perimeter of a rectangle with area 108 square feet and one side of length 9 feet?

ANSWER: 42 feet
TOSSUP 13
FINE ARTS-Dance

Peter Tchaikovsky included one of these instead of a minuet or scherzo in the third movement of his Fifth Symphony. Jean Sibelius wrote a ‘triste’ one that is slow even by its standards. The dance associated with it was popular in 1780s Vienna. One-two-three is the pace of what music where Frédéric Chopin thought 150 seconds was a ‘Minute?’

ANSWER: waltz or valse
TOSSUP 14
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Convert 80/144 into a fraction of lowest terms.

ANSWER: 5/9
TOSSUP 15
LITERATURE-US literature

Mineko Iwasaki sued this book’s author over breach of contract. It ends with the Chairman becoming Sayuri’s danna and then with Sayuri moving to New York and opening a tea house. The girls in this book are erroneously displayed as prostitutes. What Arthur Golden novel is about a Japanese girl that becomes a high-price entertainer?

ANSWER: Memoirs of a Geisha
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
LANGUAGE ARTS-Foreign language

Like in Hungarian, auxiliary verbs in this European language must agree with the subject AND the direct and indirect objects. It is regulated by a group called the Euskaltzaindia (oo-skahl-tsah-in-dee-ah). The now-extinct Aquitanian language was related to it. What language, now considered an isolate, is spoken in northwestern Spain? 

ANSWER: Basque
BONUS 16
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Solve for x and y. (Note: answers can be given in either order)

A.
5x plus 3y = 41 and 8x minus 3y = 11.
Answer:  x = 4, y = 7
B.
4x plus 5y = 35 and 7x minus 5y = 20.
Answer:  x =5, y = 3
C.
7x plus 4y = 44 and 3x minus 4y = 36.
Answer:  x = 8, y = -3
D.
4x plus 3y = 59 and 2x minus 3y = 7.

Answer:  x = 11, y = 5
TOSSUP 17
SOCIAL STUDIES-Geography

Missouri and this state are the only states to border eight other states. Its highest point is Clingman’s Dome. Its geographic center is near Murfreesboro. Its Grand Divisions: West, Middle, and East, are represented in the three stars in its flag. What state has the cities of Chattanooga, Memphis, and Knoxville? 


ANSWER: Tennessee

BONUS 17
LITERATURE-US Literature

Name the authors of the following American poems with one-word titles.

A.
“Trees”

ANSWER: Joyce Kilmer
B.
“Fog”


ANSWER: Carl Sandburg
C.
“Thanatopsis”

ANSWER: William Cullen Bryant
D.
“Ichabod”

ANSWER: John Greenleaf Whittier

TOSSUP 18
SCIENCE-Biology

Their tongues were a delicacy in Ancient Rome.  Their six species are of the genus Phoenicopterus and are greater, lesser, Chilean, James’s, Andean, and Caribbean.  Name this narrow-legged bird that eats beta carotene-rich foods such algae and shrimp, thus giving it an unusual pink color. 

ANSWER: flamingo
BONUS 18
SOCIAL STUDIES-US history

Answer these questions about George Washington’s Presidency.

A.
Who was Washington’s first Secretary of State?


ANSWER: Thomas Jefferson
B.
Samuel Osgood was the first person to hold what Cabinet position that had its Cabinet status removed in 1969?


ANSWER: Postmaster General of the United States

C.
Who was Washington’s first Chief Justice of the Supreme Court?


ANSWER: John Jay
D.
Washington had to put down what rebellion in western Pennsylvania over an excise tax on liquor?


ANSWER: Whiskey Rebellion
TOSSUP 19
MISCELLANEOUS-Industrial arts

Its recycling code is a ‘3’ within a recycling triangle, with a ‘V’ below the triangle. It became useful after Waldo Semon discovered how to ‘plasticize’ it. Its many uses include clothing, flooring, credit cards, music records, electrical wire insulation, siding, and pipes.  Name this polymer made of subunits with chemical formula C2H3Cl.

ANSWER: PVC or polyvinyl chloride
BONUS 19
LITERATURE-Philosophy

Identify these 19th century philosophers from works.

A.
Human, All Too Human and Beyond Good and Evil.

ANSWER: Friedrich Nietzsche
B.
Either/Or and Fear and Trembling.
ANSWER: Soren Kierkegaard
C.
Principles of Political Economy and On Liberty.
ANSWER: John Stuart Mill
D.
Science of Logic and Phenomenology of Mind. 

ANSWER: Georg Wilhelm Friedrich Hegel
TOSSUP 20
SCIENCE-Physics

Types of them include differential scanning, constant-pressure, isothermal titration, bomb, heat balance, reaction, and heat flow.  Name this device used for measuring the heat of chemical reactions and heat capacity that in its most basic form is a thermometer attached to an insulated container.

ANSWER: calorimeter
BONUS 20
FINE ARTS-Audio

Identify these composers whose works inspired subsequent variation and development.

A.
Paul Hindemith wrote a "Symphonic Metamorphosis" on themes of which  composer of the opera "The Freeshooter" (Der Freischutz)?

ANSWER: Carl Maria von Weber
B.
Benjamin Britten's "The Young Person's Guide to the Orchestra" was a series of variations on the work of which composer of The Indian Queen and Dido and Aeneas?

ANSWER: Henry Purcell
C.
Franz Liszt wrote a series of "Transcendental Etudes" based on the work of which Italian violin virtuoso and composer of the 24 Caprices?

ANSWER: Niccolo Paganini
D.
Brahms wrote variations on the work of several composers, including this one who wrote The Water Music.

ANSWER: George Frederick Handel
TOSSUP 21
MATH-Geometry

THIS IS A COMPUTATION QUESTION. What is the degree measure of an interior angle of a regular 30-sided polygon, given that the formula is 180 minus the fraction 360 over n, where n is the number of sides in the polygon?

ANSWER: 168 degrees
BONUS 21
SOCIAL STUDIES-Civics

Identify these law enforcement agencies of the U.S. federal government.

A.
The oldest federal law enforcement agency is what service that oversees the Witness Protection Program and otherwise enforces federal court rulings?


ANSWER: United States Marshals Service

B.
This agency is the first to investigate potential counterfeiting of American currency.


ANSWER: United States Secret Service 

C.
This agency became infamous after the Ruby Ridge and Waco Siege incidents, and added ‘Explosives’ to its name in 2002. 


ANSWER: Bureau of Alcohol, Tobacco, and Firearms or BATF
D.
This agency is tasked with protecting Congress and the United States Capitol building. 


ANSWER: United States Capitol Police
TOSSUP 22
LITERATURE-RMP

G.K. Chesterton wrote a biography on him titled The Dumb Ox. At the Council of Trent, his leading work was placed on the altar next to the Bible and papal letters called Decretals. In 1880, he was declared patron saint of all Roman Catholic schools. Who was the author of Summa Theologica? 

ANSWER: Thomas Aquinas
BONUS 22
SCIENCE-Famous scientists

Which chemist is credited with discovering these elements?

A. 
Potassium

ANSWER: (Sir) Humphry Davy
B. 
Argon. Either person is acceptable.


ANSWER: Lord Rayleigh or (Sir) William Ramsay
C. 
Barium

ANSWER: (Sir) Humphry Davy
D. 
Technetium [tek-NEE-shum]

ANSWER: Emilio Segrè [say-GRAY]

TOSSUP 23
MATH-Algebra

As the Hamiltonian deals with visiting vertices, this deals with visiting edges.  For this kind of cycle, all vertices need an even degree; and for this kind of path, either all or all but two vertices need an even degree.  Name this concept in graph theory, used for the seven bridges of Konigsberg problem, named for a Swiss mathematician.

ANSWER: Euler (OY-ler) or Eulerian (OY-lee-ree-un)

BONUS 23
MISCELLANEOUS-Classic pop culture

Identify these European bands from a hit song or songs. 

A.
‘Waterloo’ and ‘Dancing Queen’


ANSWER: ABBA
B.
‘Make Me Smile,’ ‘Colour My World,’ and ’25 Or 6 To 4’


ANSWER: Chicago

C.
‘Do You Really Want to Hurt Me?’ and ‘Karma Chameleon’


ANSWER: Culture Club
D.
Name either of the two groups that took the song ‘Venus’ to #1: the first a Dutch group in 1970 and the other a girl group in 1986. 


ANSWER: Shocking Blue or Bananarama
TOSSUP 24
SOCIAL STUDIES-World history

It is paired with the name Mountbatten if its members require the use of a surname. Its name was reaffirmed in 1952 by its fourth monarch. The monarch that created it wanted a less German-sounding name. In 1917, the House of Saxe-Coburg-Gotha became what House, which is the dynasty that still rules the United Kingdom? 

ANSWER: Windsor dynasty or House of Windsor
BONUS 24
MATH-Arithmetic

Consider the number 38. Now:

A.
What is 38 times 65?



ANSWER: 2,470
B.
Assign a value of 1 to the letter A, 2 to the letter B, etc. Now, how many possible pairs of different letters can add up to 38?


ANSWER: seven
C.
How much money is 38 quarters, 38 dimes, 38 nickels, and 38 pennies? 


ANSWER: 15.58
D.
In lowest terms, what is the sum of the fractions 5/38 and 2/3? 


ANSWER: 91/114
TOSSUP 25
LITERATURE-World literature

His Areopagitica (ah-ree-oh-PAH-ghih-tih-kuh) was a defense of the free press. His 1645 poems include ‘Il Penseroso’ (eel payn-say-ROH-soh) and ‘Lycidas’ (LIH-sih-dus). He wrote the play Samson Agonistes, which he published at the same time as Paradise Regained. Who wrote Paradise Lost? 

ANSWER: John Milton
BONUS 25
SCIENCE-Biology

It has been said that, to a first approximation, every animal is one of these.

A.
Name this class that includes the majority of all known living organisms, whose members include grasshoppers and dragonflies.

ANSWER:
insects or Insecta
B.
The single largest order of insects is Coleoptera [KOL-ee-OP-tuh-ruh], which contains these insects.

ANSWER:
beetles

C.
Like other arthropods, insects possess this hard outer structure to support their bodies.

ANSWER:
exoskeletons [accept cuticles]

D.
The exoskeleton is composed primarily of this polymer formed from modified glucose residues.

ANSWER:
chitin [KYE-tin]

HALFTIME
Third period: 15 toss-ups
TOSSUP 26
SOCIAL STUDIES-US history

She was married to William Warren between 1942 and 1947. She moved back home to Grand Rapids, Michigan, and married a Congressional candidate. Her daughter, Susan, had her prom in the East Room of the White House. What former First Lady founded a center in Rancho Mirage, California, for recovering drug addicts? 

ANSWER: Elizabeth Anne Bloomer Warren ‘Betty’ Ford
TOSSUP 27
LITERATURE-US literature

Dove plays a joke on this book’s title character, causing his hand to become deformed and ending his career as a silversmith’s apprentice. He later delivers the Boston Observer to people including Paul Revere. What Newbury Medal winner by Esther Forbes is set in Boston, Massachusetts, during the run up to the American Revolution? 

ANSWER: Johnny Tremain
TOSSUP 28
SCIENCE-Famous scientists

Its motto, “Nullius in Verba,” reflects a commitment to establishing truth through experiments and not blindly citing authority. “The Invisible College” preceded what group that elects up to 44 new Fellows a year, membership in which is the greatest honor to British scientists?

ANSWER: Royal Society of London for the Improvement of Natural Knowledge

TOSSUP 29
MATH-Algebra

THIS IS A COMPUTATION QUESTION. What is the complex product of 5 plus 3i and 4 minus 2i?

ANSWER: 26 plus 2i
TOSSUP 30
LITERATURE-RMP

John Dewey called this philosophy “instrumentalism.” Charles Sanders Pierce formulated its maxim, which states, “Consider what effects, that might conceivably have practical bearings, we conceive the object of our conception to have.” What 20th century school of philosophy concerns itself with the practical consequences of truth?

ANSWER: pragmatism (accept word forms such as pragmatist)
TOSSUP 31
SCIENCE-Chemistry

It was discovered by its namesake Scottish botanist while observing pollen in 1827. Albert Einstein dealt with it as a random walk that described displacement as a function of the square root of time, thus indirectly proving the existence of atoms and molecules.  Name this random movement of particles suspended in a fluid.

ANSWER: Brownian motion

TOSSUP 32
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. One hundred twenty is the factorial of what number?

ANSWER: 5
TOSSUP 33
MISCELLANEOUS-Pop culture

Ron Weasley thought it had a boring life, as it spent all year thinking up a speech. It helped Harry in the Chamber of Secrets by ‘giving’ Godric’s Gryffindor’s sword to Harry. It also proclaimed ‘there’s nothing hidden in your head’ that it couldn’t see. At the beginning of each year, what object split students at Hogwarts into their Houses? 

ANSWER: Sorting Hat
TOSSUP 34
SOCIAL STUDIES-Psychology

The Abbé Faria tried to use it to cure disease, and was the first to recognize that it worked by the power of suggestion. While Franz Anton Mesmer was the first to practice it in the West, the ‘sleep temples’ of the Hindus probably utilized it. What technique puts people in a trance-like state that renders them easily suggestible? 

ANSWER: hypnosis (accept word forms)

TOSSUP 35
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Convert the Roman numeral MMDCCLXXVIII into a decimal number, given that M equals 1000, D equals 500, C equals 100, L equals 50, X equals 10, V equals 5, and I equals 1.

ANSWER: 2778
TOSSUP 36
LITERATURE-World literature

He asked Izz Huett to be his mistress. He promised to look after Liza-Lu, his wife’s younger sister. His older brothers believed he should have married Mercy Chant. Despite being forgiven for his own affair, he left for Brazil after not forgiving his wife for her affair with Alec. Who does Tess marry in Tess of the d’Urbervilles?

ANSWER: Angel Clare

TOSSUP 37
FINE ARTS-Visual

This 1924 movie’s director insisted on location filming in Death Valley, and its ten hours had to be cut to two and a half. Gibson Gowland and Zasu Pitts starred as unlicensed dentist John McTeague and his wife Trina, respectively. Based on the Frank Norris novel McTeague, what Erich von Stroheim movie is about increased avarice? 

ANSWER: Greed
TOSSUP 38
SCIENCE-Biology

Its relatives include the darters, cormorants, boobies, and frigatebirds.  Its eight species are known as Peruvian, pink-backed, Dalmatian, Australian, spot-billed, American white, great white, and brown.  It is seen on the Louisiana state flag.  Name this large water bird with a pouch under its beak.

ANSWER: pelican
TOSSUP 39
LANGUAGE ARTS-Grammar

What is the name of the noun or noun phrase to which a pronoun refers, as in the sentence pair: ‘John got 12 tossups in the last match. He was very happy?’

ANSWER: antecedent
TOSSUP 40
SOCIAL STUDIES-World history

A rope bridge allowed access to this city across the Urubamba River. Its Sacred District contains the Room of the Three Windows and the Temple of the Sun. Its name means ‘Old Peak’ in the Quechua (kay-CHOO-ah) language. Hiram Bingham re-discovered what lost city of the Incas in 1911? 

ANSWER: Machu Picchu
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
LITERATURE-US literature

Ruthie and Winfield are the youngest of this family’s six children. Noah, the oldest child, leaves the family right before they reach California. Al decides to stay with Agnes Wainwright, and Rose of Sharon delivers a stillborn baby. Tom spent time in prison for manslaughter. What is this family that travels west in The Grapes of Wrath?

ANSWER: the Joad family

BONUS 41
MATH-Arithmetic

Consider the pair of numbers 30 and 115. Now:

A.
What is their greatest common factor?


ANSWER: five
B.
To the nearest hundredth, what is 115 divided by 30? 


ANSWER: 3.83
C.
What is the least common multiple of 30 and 115?


ANSWER: 690
D.
What is the fully simplified square root of the product of 30 and 115? 


ANSWER: 5 times the square root of 138
TOSSUP 42
SOCIAL STUDIES-US history

Presidents Truman, Kennedy, Johnson, and Nixon all wanted to fire him, but changed their minds. He kept the Venona Project, a report on Soviet espionage efforts in the US, a secret until 1952. He used COINTELPRO against groups such as the KKK and Communist Party. Between 1924 and his death in 1972, who directed the FBI?

ANSWER: J. Edgar Hoover
BONUS 42
SCIENCE-Chemistry

Answer these questions about the nitrate ion:

A.
What is its molecular formula? You need not give the oxidation state.

ANSWER:
NO3
B.
According to VSEPR [VESS-pur] theory, what is its molecular geometry?

ANSWER:
trigonal planar [accept triangular planar; prompt on partial answers]

C.
How many pi bonds are there in a nitrate ion?

ANSWER:
1
D.
The nitrate ion exhibits what phenomenon, the stabilization caused by electrons that are delocalized among multiple atoms?

ANSWER:
resonance (stabilization)

TOSSUP 43
LITERATURE-World literature

The youngest son of the legendary king Constantine II, he helped Merlin bring Stonehenge’s stones from Ireland to England. Merlin then helped him, transforming him into Gorlois, the Duke of Cornwall. So disguised, he entered Tintagel Castle and seduced Igraine. Who was the father of King Arthur? 

ANSWER: Uther Pendragon

BONUS 43
SOCIAL STUDIES-Geography

Given a description of a suburb of Saint Louis name that city.

A. 
This city is the second oldest city west of the Mississippi and also served as the state capitol from 1821 to 1826.


ANSWER: Saint Charles
B. 
This city along interstate 70 lies between Lake St. Louis and St. Peters.


ANSWER: O’Fallon  
C.
This city is the largest suburb in west St. Louis County.

           ANSWER: Chesterfield

D.
This city is the second largest suburb on the Missouri side.


ANSWER: Florissant

TOSSUP 44
MATH-Geometry

THIS IS A COMPUTATION QUESTION. What is the cosine of 60 degrees?

ANSWER: .5 or 1/2
BONUS 44
SOCIAL STUDIES-US history

Answer these questions about a two-word phrase in American history.

A.
John O’Sullivan coined what two-word phrase to describe the United States’ claim to the entire North American continent?


ANSWER: Manifest Destiny
B.
Believers in Manifest Destiny wanted what parallel line, the northern border of Oregon, or a war with Britain?


ANSWER: Fifty-four degrees, forty seconds north

C.
What was the secret plan hatched in 1854 for the United States to pay $130 million for Cuba, or to launch a war with Spain if refused? 


ANSWER: Ostend Manifesto

D.
What treaty ended the Mexican War and ceded half of Mexico to the United States?


ANSWER: Guadalupe Hidalgo
TOSSUP 45
SCIENCE-Astronomy

The first one states that orbits are elliptical; the second one states that equal areas are swept out in equal time; and the third one states that the square of the orbital period of a planet is proportional to the cube of the semi-major axis of the elliptical orbit.  Name these laws named after a German scientist.

ANSWER: Kepler’s laws
BONUS 45
LITERATURE-World literature

Name these characters from The Three Musketeers.
A.
This hotheaded young man is eager to join the Musketeers.

ANSWER: D’Artagnan

B.
This Bourbon king of France reigns in the plot of the novel.

ANSWER: Louis XIII (13th)

C.
This antagonist was Louis XIII’s chief minister.

ANSWER: Cardinal Richelieu
D.
This woman, commonly referred to as “Milady,” spies for Richelieu.

ANSWER: Milady de Winter

TOSSUP 46
MISCELLANEOUS-Current events

This author of Quit Digging Your Grave with a Knife and Fork lost 110 pounds after becoming governor. He became governor after Jim Guy Tucker resigned due to Whitewater. He entered the spotlight after finishing second in an Iowa straw poll. What former governor of Arkansas is running for the Republican presidential nomination?

ANSWER: Mike Huckabee
BONUS 46
MATH-Geometry

Consider an angle of 60 degrees. Now:

A.
What is its supplement? 


ANSWER: 120 degrees

B.
How many radians are in that angle’s complement? 


ANSWER: PI/6 radians

C.
Given a circle of diameter 6 inches, what is the area enclosed by an angle of 60 degrees that is centered at the circle’s center? 


ANSWER: 3/2 PI square inches
D.
Assume that angle is one of two equivalent angles at the base of a 7-sided polygon. If the other angles are equal, what is the degree measure of any one of those two angles?


ANSWER: 156 degrees

TOSSUP 47
SCIENCE-Biology

Users of beta-blockers or those have diabetes are more susceptible to it.  It is most likely to happen to body parts farthest from the heart and with a lot of exposed surface area.  Severe cases can be followed by gangrene and require amputation.  Name this term for damage to skin and other tissue caused by exposure to extreme cold.

ANSWER: frostbite
BONUS 47
MISCELLANEOUS-Miscellaneous

One of the critically parts of today’s business world is typing. Answer the following questions about typing.

A. 
Due to the uncertainty of word lengths in determining words per minute this other measurement is used.


ANSWER. Characters Per Minute

B. 
This type of keyboard is the second fastest form of typing after the stenotype keyboard.


ANSWER: Dvorak Keyboard

C. 
This is the name for the standard keyboard on typewriters and computers


ANSWER; QWERTY

D. 
This term is used for typing skill on the number pad.


ANSWER: 10 Key

TOSSUP 48
SOCIAL STUDIES-World history

Its steam turbines could go 21 knots, making it, at the time, the fastest capital ship afloat. The Royal Navy made improvements to its design reflected in the Bellerophon and Orion classes. Its only action in World War I was ramming and sinking the German U-29. What battleship, launched in 1906, started a naval arms race before World War I?

ANSWER: HMS Dreadnought
BONUS 48
SCIENCE-Physics

Identify these forces:

A. 
Of the four fundamental forces of nature, this is the weakest at a distance of one meter.

ANSWER: gravitational force [accept gravity]

B. 
This force is exerted when an object rests on a surface, and is oriented at a 90° angle to that surface.

ANSWER: normal force

C. 
This term describes any force that creates a change in energy that does not depend on the path of the force.

ANSWER: conservative force

D. 
This type of force maintains an object traveling in a circle; it is always directed towards the center of that circle.

ANSWER: centripetal [sen-TRIP-uh-tul] force [do not prompt on “centrifugal”]

TOSSUP 49
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is 73 times 52?

ANSWER: 3796
BONUS 49
LITERATURE-US literature

Given a work by a black author, name that author.

A.
The Autobiography of an Ex-Colored Man

ANSWER: James Weldon Johnson
B.
“To His Excellency, General Washington”

ANSWER: Phyllis Wheatley
C.
“On The Pulse Of Morning”

ANSWER: Maya Angelou
D.
Their Eyes Were Watching God

ANSWER: Zora Neale Hurston

TOSSUP 50
FINE ARTS-Visual

This art form can be made directly, indirectly, or double indirectly. Although it went out of fashion by the Renaissance, Raphael made one called Creation of the World in the Chigi (KEE-jee) Chapel. What art form is composed of individual pieces called tesserae, which can be made from colored glass or pottery, glued to a backing surface?  

ANSWER: mosaic
BONUS 50
LANGUAGE ARTS-Vocabulary

Identify these ‘timely’ words.

A.
This refers to a period of fourteen days? 


ANSWER: fortnight
B.
Someone that is very old-fashioned is what word whose origin is the Latin for ‘before the flood?’


ANSWER: antediluvian
C.
Some non-Christians have started using what two-letter abbreviation instead of ‘A.D.’ to refer to the time after Christ’s birth?


ANSWER: C.E.
D.
One tick of a computer’s internal clock is what informal unit of time that means ‘very quickly?’


ANSWER: jiffy
END OF MATCH

Spare questions
TOSSUP 51
SOCIAL STUDIES-Geography

In the 1780s, a canal was proposed to connect it to the Kanawha River. Its origin is the junction of the Cowpasture and Jackson Rivers and it flows for 410 miles within the Commonwealth. What river flows through Lynchburg and Richmond? 

ANSWER: James River

BONUS 51
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Solve for x.

A.
7x plus 43 equals 3x plus 75.


Answer:
x = 8
B.
5x plus 23 equals 2x plus 56.


Answer:
x = 11
C.
4x minus 12 equals –5x minus 66.

Answer:
x = -6
D.
3x plus 55 equals –2x minus 10.

Answer:
x = -13
TOSSUP 52
SCIENCE-Physics

It deals with the probabilistic interpretation of the wave function and observation collapsing the wave function. Its consequences include Schrodinger’s cat and the EPR paradox. It may mean things do not exist when not being observed.  What interpretation of quantum mechanics is named after Niels Bohr’s hometown, the capital of Denmark?

ANSWER: Copenhagen interpretation

BONUS 52
FINE ARTS-Visual

Answer these questions about blue in art.

A.
What artist painted The Old Guitarist during his Blue Period, which lasted from 1900 to 1904?


ANSWER: Pablo Picasso
B.
Who painted The Blue Boy? 


ANSWER: Thomas Gainsborough
C.
A blue dress is next to the nude woman in The Luncheon on the Grass, a painting by what artist? 


ANSWER: Edouard Manet (mah-NAY) (DO NOT accept ‘Monet’)

D.
The brother of the author of Goblin-Market, what leading figure of the Pre-Raphaelite Brotherhood has the title figure in his Persephone wearing a blue dress?


ANSWER: Dante Gabriel Rossetti 
TOSSUP 53
MISCELLANEOUS-Pop culture

The artist who released this single was sued by the writers for The Rubinoos. Featured in the trailers for both Bratz and I Now Pronounce You Chuck & Larry, it was the first single released on the 2007 album The Best Damn Thing. The singer’s distaste for the title figure is expressed in what song by Avril Lavigne?

ANSWER: Girlfriend
BONUS 53
LANGUAGE ARTS-Foreign language

Consider the regular French verb parler (par-LAY). Given a tense, person, and number, spell out the correct conjugation of the verb.

A.
Future tense, second person singular.

ANSWER: (tu) p a r l e r a s
B.
Present subjunctive, first person singular.
ANSWER: (qu’il) p a r l e
C.
Present indicative, third person plural.
ANSWER: (elles) p a r l e n t
D.
Including the helping verb, passé composé, first person plural.


ANSWER: (nous) a v o n s   p a r l é
TOSSUP 54
LITERATURE-RMP

A few investigators believe the creature Roger Patterson filmed in 1967 was a Gigantopithecus. “Ape Canyon” has been the site of alleged sightings, but skeptics note that the temperate Northern Hemisphere is not a place frequented by large bipedal apes. What legendary resident of the Pacific Northwest is also known as “Sasquatch?” 

ANSWER: Bigfoot (accept Sasquatch if said before the question)

BONUS 54
SOCIAL STUDIES-World history

Identify these British Prime Ministers.

A.
This Conservative served two terms, one in 1868 and the other between 1874 and 1880. He was a great rival of William Gladstone.


ANSWER: Benjamin Disraeli
B.
The 1st Earl of Chatham (CHAT-um) was the ‘Elder’ of what father-son pair of Prime Ministers?


ANSWER: William Pitt
C.
The founder of the Conservative Party and namesake of the ‘Bobbies’ is what minister that served between 1834 and 1835, and again between 1841 and 1846?


ANSWER: Robert Peel
D.
He was Prime Minister between 1721 and 1742, and is usually regarded as the first Prime Minister.


ANSWER: Robert Walpole
TOSSUP 55
FINE ARTS-Audio

When he died, they discovered three additional symphonies, and then one more that the composer himself had forgotten about. His operas, aside from Kate and the Devil and Rusalka, are largely forgotten. His 12th string quartet was the “American.” Who is best known for his ninth symphony, subtitled “From the New World?”

ANSWER: Antonin Dvořak (duh-vor-zhak)

BONUS 55
SCIENCE-Biology

They are the cells that transmit signals in the nervous system.

A.
Name these cells that synthesize neurotransmitters.

ANSWER:
neuron(s)

B.
A neuron may have multiple dendrites to receive signals, but has only one of these structures to propagate signals.

ANSWER:
axon(s)

C.
Two types of cells, one in the peripheral nervous system, and one in the central, nourish neurons. Name either type.

ANSWER:
Schwann cells or oligodendrocytes [AH-lih-goh-DEN-druh-sytes]

D.
Neurons which are surrounded by this protective polymer can conduct nerve impulses twice as fast as those without it.

ANSWER:
myelin (sheath) [MY-uh-lin] [accept word forms]

TOSSUP 56
MATH-Computer science

There are potentially over 4 billion of these, but 270 million of them are used for multicasts and 18 million are used for private networks. 127.0.0.1 (127 dot zero dot zero dot one) is the local host. What set of four numbers between 0 and 255, each separated by a dot, identifies a computer on the Internet? 


ANSWER: IP address or IP number (DO NOT accept ‘MAC address’)

BONUS 56
LITERATURE-World literature

Give the nationality of the following international authors.

A.
George Bernard Shaw

ANSWER: Irish (Ireland)

B.
Johann Wyss


ANSWER: Swiss (Switzerland)

C.
Alan Paton


ANSWER: South African (South Africa)

D.
Hans Christian Andersen
ANSWER: Danish (Denmark)

TOSSUP 57
LANGUAGE ARTS-Vocabulary 

To topologists, this word means a two-dimensional manifold. It originates from two French words meaning ‘outermost boundary.’ It is also a verb that means emerging after concealment, such as additional details of a scandal or a submarine rising to sea level. What word also has chemical properties such as roughness and tension? 

ANSWER: surface
BONUS 57
MISCELLANEOUS-Current events

Answer the following about the change of presidential duties of Cuba.

A. 
On July 2006 this man took over temporally for Fidel Castro as president of Cuba.


ANSWER: Raul Castro

B. 
Fidel had to transfer power due to this condition the Cuban government attributes to stress.


ANSWER: Gastrointestinal Bleeding

C. 
In 2007 Fidel missed making a public appearance for only the 3rd time in five decades for this national holiday in Cuba.


ANSWER: May Day
D. 
Most of Fidel’s public speaking and appearances have been with the president of Venezuela.


ANSWER: Hugo Chavez 
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